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3an.3 Hexka OM 1L CD,BP 1. OC u AN 1 OD . Ot npaBosreiaaus AOMC cnensa
MC* =0C* -0OM* =13 —=12° =25cm , otkbaero MC = Scm (1 Touka). Ot npaBobremaus AOMD
cinenBa MD* =0OD* —OM* =15 —12* =81cm , otkbrero MD = 9cm D M ¢
(1 Touka). AOCM=AOCQ=~Z0CM=/0CQ=a u T
Z0CM=/BOC=a(kpbcTau brin) = AOBC - paBHobenpen = OB=BC : N
(1 Touka) u OP=PC=6,5(0,5 Touxkn). :
AmnanoruaHo ce nmokassa, u¢ AO=AD(1 Touka).
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= %z 6.5 = BO=16,9 cm = BC(1 Touka)

ITo ananormden HauuH Hamupame, ue A0 =12,5cm =AD(1 Touka)= P ;. =72,8 cm(0,5 Toukn).



